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Problem A: %1 (Easy version)
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Problem B: %1 (Hard version)
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Code: https://www. luogu. com. cn/paste/yge2dqmy
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Code: https://www. luogu. com. cn/paste/ngl8m06g
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Code: https://www. luogu. com. cn/paste/3nkl8sxw
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Problem F: Clash of Clans

@ﬁﬁ*ﬂcode:

Problem G: JYtiEZEF!

B H iR

RN, HAA HERRE S RO HARPHE -1,

(1) ZFr =2 10 HR5E

(2) ZEFIRTTREK

Q) ZHFREARISFE;

i BORIXAECES R0, LB DFEINE, F— MR AHTE-1

R PHE i R R EOE TR B RO, FTLE TR ER AT — XML, ARG MR E]
AINHERE, HaHHE T S I R BT

Code: https://www. luogu. com. cn/paste/hwioukga
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https://www.luogu.com.cn/paste/fubou1zu
https://www.luogu.com.cn/paste/hwioukgo

Bl sli] += s[i - 1];
Code: https://www. luogu. com. cn/paste/2 jvadpvv
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